4cm

20x10
=200 (cm?)

A
20cm 6x 2

18cm =12 (cm?)

B
3x8
=24 (cm?)

10cm 200-12-24
=164 (cm?)

6cm

A
(8+14)x6

2

gem =66 (cm?)

B
10x 4
10cm =40 (cm?)

40+ 66
=106 (cm?)

4cm




6cm

8cm

10cm

6cm

8cm

10cm

4cm

X
6x4
=24 (cm?)

Y
(6+4)x (8—4)
=40 (cm?)

Z
(4+10) x (10— 4)

2
=42 (cm?)

24+40+ 42
=106 (cm?)

(6+4)x (10+ 4)
=140 (cm?)

C
4x4
=16 (cm?)

D
(10+4-8)x6

2
=18 (cm?)

140-16-18
=106 (cm?)




12m

16m

9cm

A
x4

2
=14 (cm?)

B
7x3
=21(cm?)

C
6x3
=18 (cm?)

14+21+18
=53 (cm?)




3cm

3cm

A
4%x3
=12 (cm?)

B
6x2
=12 (cm?)

C
10x 3
=30 (cm?)

12+12+ 30
=54 (cm?)

A |
B |
4cm :
. C
2cm
3cm
A
4cm
B
2cm
C
3cm

A
9x 3
= 27 (cm?)

B
5x3
=15 (cm?)

C
4x3
=12 (cm?)

27+15+12
=54 (cm?)

( )dc ©
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10x9
=90 (cm?)

4%x3
=12 (cm?)

6x4
=24 (cm?)

90-12-24
=54 (cm?)

3cm
4cm
3cm
D
2cm
E 4cm
3cm
3cm
4cm
3cm
[) i 2cm
i E |4cm
3cm

10x9
=90 (cm?)

x4
=28 (cm?)

4x2
=8 (cm?)

90-28-8
=54 (cm?)

( )dc ©

47



40mm

12cm

37cm

5cm

A
40x10
= 400(mm?)

B
(8+14)x13

2
=143 (mm?)

400+143
=543 (mm?)

(29+37)x18

2
=594 (cm?)

A
(8+12)x9

2
~ 90 (cm?)

594-90
=504 (cm?)
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7cm 10cm 7cm

6cm 6cm

14cm

10cm

7cm 10cm 7cm

14cm

6cm 6cm

14cm

10cm

A
34x10
=340(cm?)

B
(6+14)x 7

2
=70 (cm?)

C
(6+14)x 7

2
=70 (cm?)

340+ 70+ 70
=480 (cm?)

34x 24
=816(cm?)

P
(10+14) x 7

2
=84 (cm?)
PQR S
84x 4
=336 (cm?)

816336
=480 (cm?)
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A

2
=576 (cm?)

B
10cm

2
=100 (cm?)

36em 576+ 100

=676 (cm?)

10.

(8+12)x10

22 % 20

2
=220 (cm?)

A
6x5
=30 (cm?)

20cm

220-30
=190 (cm?)

6cm 16cm
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